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by ‘i equation thal
One linear equation is - bx + 7y = 2, Wmte another linear eq
1z air of dependent linear egquations.
S bl \ ind the value of (x + y).
If2x -y = 3 and - x + 2y = 3, then find the
3 Ifx =aandy = b is the solution of the equations 2x + y = 3 and x—y =#
3 "then find the values of ‘e’ and ¢’,

Which of the following is a solution of the

and 6x - 5y = 4 is

(@) x=2,y=1 :
The pair of linear equations 2x +

(a) dependent
(c) consistent :

6~ The pair of linear equations Gx - Yy = 1 and 3x — '4y =5 has :

(b) two solutions

(d) vo solution

pair of equation, 3x + 2y = 20
b)x=4,y=4 @x=6,y=7 d)x=5y=3
E’tysl()and3x+2y=10is:

(b) inconsistent
(d) comsistent and dependent

(a) unique solution

(¢) infinitely many solutions 7
Ritesh says his daughter, “Beven years ago, I was seven times as old as/
you were then. Also, three years from now, I shall be three times as olq as you,
will be.” Represent this situation algebraically. i

s 2 =89 =2 not a solution of the pair of equations 3x — 2y = 4 ang
" 6 -~ 4y =87? , : . {

q. If x=2,y=3 is a solution of g pair of lines 2x - 3y +a=0 anq
2x +3y-b + 2 = 0, then find the values of @ and b. I [

- Find the value of 4’ satisfying both the equations 2x - g y and x y: {

\- The sum of a two digit number and the numbey obtained by reversing the ()x'dnr‘
! : of its digits is 165. If the digits differ by 3, find the number.

[2 In a competitive examination, one mark 1s awarded for each correct answer,
while half mark is deducted for each wrong answer. Rajiy answered 120 questions
and got 90 marks. How many qusstions did he answer correctly ?

RE Pocket money of Zahira and Zohra are in the ratio 6 : 5 and the ratio of their
expenditures are in the ratio 4 : 3. If each of them save ¥ 50 at the end of the
month, find their pocket money.

}L' The sum of the digits of a two digit number ig 12. The numbey obtained by
interchanging the two digits exceads the given number by 18. Find the number,

DP_ Eight times a two digit number i equal to three timeg the number obtained by

reversing the order of its digits. It the difference between the digits is 5, find the
number,

[6‘. A part of monthly expenses of 4 family is constant and the remaining vaprieg
with the price of rice. When the cost of rice is ¥ 250 ber quintal, the monthly
expenditure of the family is ¥ 1009 and when the cost of rice is T 240 per quintal
the monthly expenditure 1s ¥ 980. Find the monthly expendityre of the family
when the cost of rice 1s ¥ 300 per quintal, : '

)"[ ~ The students of a class are made ¢ stand in rows. If three students are extra ip
each row, there would be 1 row less. If 3 students are Jegs in a row, there would
be 2 rows more. Find the number of students in the class. sl Al

]g On reversing the digits of a twe digit number, number obtained s 9 less than
three times the original number. [f difference of these two numbers ig 45, find
the original number, ' ;

9. 9 years ago, age of one sister wag twice the other sister. 5 yearsg hence, thejy ages

will be in the ratio 2 : 3. Find theiy Present ages.

(3x + 1) e, BC = (2% + 3y + 5) ¢m

e S le ir. which AB = :
Jor AABC is an equilateral triangle ir. w i et chilatEnh]

and AC = (x + 9y + 6) crm. Find values of v or

triangle. : , o e
A ri of a two digit number and number obtained on reversing the dllg,lts :
o . ligits is | e thig ig imbor,
1t If ber obtained %n reversing the digits 1s 3 more than the original nt ‘
num :d Bn re g

find the number.
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the value of m for which y = mx + 3, if their point of intersection lies on the line

Solve the following system of equations :
148x + 231y = 610; 231x + 143y = 527
The sum of the numerator and denominator of a fraction is 12. Jf 1 is added to

both the numerator and the denominator, the fraction becomes E Find the

fraction. .
Solve the following pair of linear equations by substitution method :
ARl USD e = 5

‘The taxi charge in a city consists of a fixed charge together with the charge for

fche djstance covered. For a distance of' 8 km, the charge paid is ¥ 111 and for a
J(;:lrn,ey of 112 ls?m, the charge paid is ¥ 159. What are the fixed charges and
g : = : :
= 51 ]g{(inp?(,r km ? How much does a person have to pay for travelling a distance
The ages of mother and daughter are in the ratio 9 : 4. Five years ago age of
mother was 10.years more than twice the age of her daugher. Find their present
ages.
The difference between two numbers is 26 and i i

s is 26 2 one b
G number is three times the

Solve the pair of linear equations 3x + y = — 1 and — 2x + 3y = 19. Hence, find

= mx + 3.
Find the value of %’ for which the following system of equations represéhts a
pair of coincident Ifnes :

x+2y:3;(k—1)x+(k+1)y=r’e+3
Represent the following pair of linear equations graphically and hence comment
on the condition of consistency of this pair :
x — by = 6; 2x — 10y = 12 '
Solve the following pair of equations graphically :
x+y=6;3x—y=10
Draw graph of following pair of lirear equations :
y=2@x-1;4c+y=4
Also, write the co-ordinates of the ooints where these lines meets x-axis and
y-axis. .
Represent the following system of equations graphically :
x + 3y =6;2x — 3y = 12
Also, shade the triangle formed by these two lines with y-axis.
Draw the graph of the following pair of linear equations :
dx —y = 4;3x + 2y = 14
Shadeé the region bounded by both the lines and x = 0.
Solve the following pair of linear equations graphically :
2 -3y =14 -3y +1=0
Does the point (2, 3) lie on any one of the lines formed by the above given
equations ? If yes, write the equation of the line. e
Draw the graphs of 2x +y = 6 and 2x — y + 2 = 0. Shade the region bounded by
these lines and x-axis. Find the arsa of the shaded region. ,
Draw the graphs of the following equations : x +y =5, % -y = 3
(i) Find the solution of the equations from the graph.
(i) Shade the triangular region formed by these lines and the y-axis.

Solve graphically the system of equations 5x —y =7 and x —y + 1 = 0. Calculate
the area bounded by these lines and the y-axis.
Solve the following pair of linear equations graphically :
x+3y=6,2c—3y=12 ’ '
Also, shade the region bounded by the line 2x — 3y = 12 and both the co-ordinate
axes. ;
Determine the values of m and 7 50 that the follewing pair of linear pquations
has infinite.number of sclutions =
Cm-Dx+3y=5
Sepln- ="
Solve for x and y by cross multiplicaticp method :
st o
a b

a1 By = n.3 -+ h

aQ

e 3
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Solve the following system of equations :
148x + 231y = 610; 231x + 148y = 527
The sum of the numerator and denommator of a fraction is 12. J¥ 1 is added to

both the numerator and the denominator, the fraction becomes i I'ind the

fraction. .

Solve the following pair of linear equations by substitution method :
x + 3y =il5 ey =

'The taxi charge in a city consists of a fixed charge together with the charge for

.the distance covered. For a distance of 8 km, the charge paid is ¥ 111 and for a
J(;lum,ey of 112 lf?m, the charge paid is ¥ 159. What are the fixed charges and'
charge pe / 1§01 i i
- 51imp?u km ? How much does a person have to pay for travelling a distance
The ages of mother and daughter are in the ratio 9 : 4. Five years ago age o.fl
mother was 10.years more than twice the age of her daugher. Fiind their present
ages.
The difference between two numbers is 26 and i i

(s L fd 0
el i ne number is three times the
Solve the pair of linear equations 3x +y = — 1 and — 2x + Sy = 19. Hence, find

the value ?())f m for which y = mx + 3, if their point of intersection lies on the line
y = mx + 3. :

Find the value of ‘&’ for which the following system of equations represéhts a

pair of coincident Hnes :
x + 2y =3; (k-1 x+(k+ Ly=*Fk+3

Represent the following pair of linear equations graphically and hence comment

on the condition of consistency of this pair :
x — by = 6; 2x — 10y = 12 :

Solve the following pair of equations graphically :
x+y=6;3x-—y=10

Draw graph of following pair of lirear equations :
y=2@x-1;4c+y=4

Also, write the co-ordinates of the points where these lines meets x-axis and

y-axis.
Represent the following system of equations graphically :
x + 3y =6;2x -3y =12
Also, shade the triangle formed by these two lines with y-axis.
Draw the graph of the following pair of linear equations :
4x—y=4;3x+2y:14
Shadé the region bounded by both the lines and x = 0.
Solve the following pair of linear equations graphically :
2¢ -3y =14x -3y +1=0.

Does the point (2, 3) lie on any one of the lines formed by the above given

equations ? If yes, write the equation of the line. _
Draw the graphs of 2x +y = 6 and 2x —y + 92 — (0. Shade the region bounded by
these lines and x-axis. Find the arza of the shaded region. -
Draw the graphs of the following equations : x +y =5, % -y = ‘@

(i) Find the solution of the equations from the graph.

(ii) Shade the triangular region formed by these lines and the y-axis.

Solve graphically the system of equations 5x —y =7 and x —y + 1 = 0. Calculate
the area bounded by these lines and the y-axis.
Solve the following pair of linear equations graphically :

x +3y=6,2c— 3y =12 : '
Also, shade the region bounded by the line 2x — 3y = 12 and both the co-ordinate
axes. '

Determine the values of m and 7 so fliat the following pair of linear aquations

Las infinite- number of sclutions ©
(2m - Dx+3y=5
e viin—1E=2
Solve for x and y by cross multiplicatizn method :
oy
a b

s Q
o n.d + i‘)u -
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1. Check whether &2y Tk 11 fuctorof At 5%~ Tx? + 2% + 2.
: v ok z ;
9. Find the pulynomial when il is given that divisor, quotient and remainder art
respectively & — 3x + 4,9c-1andx + 4 3 ;

& 2. On dividing polynomial 3~ 4® 1 Tx — 4 by a polynomial glx), quoticnt and
remainder are 22 _ 9% + 2 and x respectively. Find gix). B o -
4, Give onc example of a polynomial division process where plx) = gla)iglx) + rla).
(i) deg 1rtx)) < deg iglx)]
(i) deg |px)] = deg lgtx)]

5. Find all the zeroes of x3 + 11x* + 23x - 35, 1 two of its zeroes are 1 and - 5.
-t

§. On dividing the polynomial plx} =  — 338 — Bx% + Tx — 11 by a polynomial g(x),
we gel the remainder — 14x — 33 and the guotient x2— 6x + 11. Find glx).

7. Obtain all the zeroes of 3t + 6xd — 2x2 - 10x — 5, if two of its =zeroes cre

5 5
e o n -
\]3 an \]I° : {

(e
: iy 5 e 3
8. If the polynomial Gt 4 8% & 17x% + 21x + T 15 divided by another polynomial
3x2 4 4x + 1, the remainder comes out to be ax + b. Find a and b.

9. Divide the polynomial plx) = oxt _ dxd — dx? 4 6x — 2 by the polynomial glx: =
%2 _ 2 and find the gquotient and the remainder. Also, verify the division algorithm.

i 10, If three zevoes of a polvnomial 2t 93 —x?2 _92xare0, 1 ‘and — 1, then find all

-the zeroes.
H ¥ ‘- © a9 . 5 . o ]
| 11. Divide 2x" ~ 028 4 Bx? o B - B by xt —du+ 1 and verify the division algorithni.

2. On dividing the polynomial plx) = Bxd — 3% — 2x + 1 by annther polynomial
glel= ol 4 2t the quotient 18 ax? + bx + ¢, find a, b and c.

13. Check whether 2 4+ 2% + 2 is a factor of b + 82 + 722 + x + 13 er not.

14. Find all the zeroes of the polynomial fa) = 3 4 13x% + 32 + 20, if one of its

zevoes is — 2.

€t
]

15. Obtain all other zeroes of the polynomial ot = 328 — %% 4 9x — 6. if twao of its

zZeroes are J3 and =

16. Find the values of a and b so Tabat b+ % e+ BB exactly divisible by
xe L

17. If the remainder op division of 33 4 2x? 4 hx + 7 by x — 3 15 25, find the value of
4 and the quotient. Hence, find the zeroes of the quotient so obtained.

18. If the polynomial f(x) = 94 x 328 — 11x? - Bx + 10 1s completely divisible by
3x2 _ 5, find 2ll its zeroes. 3 : )

19. Wind the values of p and g so that 1 and — 2 are the zeroes of the polynomial
le) = 3+ 10x% + px + g and then find its third zero. -
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Show that square of any positive odd integer is of the form 8k + 1, where k is an
integer. 2

Show that any positive even integer is of the form 6m, 6m + 2 or 6m + 4, where

m is some integer. = : Sulyy

Show that any positive odd integer is of the form 8q + 1 or 8g + 3 or 8q + 5 or
8q + 7. s
: ; . 919 : ;
. Find the dcecimal expansion of S Find out after how many decimal places
X ¢ oo

it terminates. s
By using Euclid’s division algorithm, find the largest number which divides 650
and 1170. :

Shovy that any positive even integer is of the form 4q or 4q + 2 and any positive
odd integer is of the form 4g + 1 or 4g + 3, where g is any integer.

Check whether 15" can end with the digit zero (0) for any natural number n.

Show that the numbers 231 and 396 are not co-prime.

- Find HCF of two numbers whose prime factorisation are expressible as 23 x 52 x
7 % 13 and 2% x 5 % 29. o

4Ax3%2x1+3are composite

Explain why 7 % 13 x 11 + 11 and 7 X 6 x5 x

numbers.

The traffic lights at three diffcrent road crossings change after every 48 seconds,
79 seconds and 108 seconds respectively. If they change simultaneolsly ‘at
7 am, at what time will they change simultaneously again 7.

Write 32875 as product of prime factors. Is this factorisation unique ?

. Explain whether the number 3 x 5 x 13 X 46 + 23 is a prime number or 2

composite number.

eorem of arithmetic. it

State fundamental th pers be 24 and 540 resp

Is it possible that HCF and 1L.CM of two num

. odifer wonr ANSWeET.

Write down the decimal expansion of (1) —i and (i) .
3125 1600 °

Prove ‘c};at T is an irrational number.

Prove that 3 + J2 is an irrational number.

Prove that D J5 is an irrational number.

Prove that 3 + 2+/5 is an irrational number.

Prove that (3 + 2./5)? isv irrational. , y =

-

Prove that 5— 25 is an irrational number.

i : 3 .
Prove that _ is an irrational number.
2++3

X < ; : 16
~ Write dowr the decimal expansion of ---—. without actual division

== I 9]

5ub' i~ Mot ;
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